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— MHETYRE —
45X 9= 40[7
45x 8= 36[7
45x7=31[7
45%x 6= 277
45X 5= 22[7
45 x 4= 18[7
45x 3= 1|3[7
45%x2= 9[7|

45% 1 = 4[7)

— DIETIRE —
29x9= 26[7]
29 x 8= 23[7]
29 x7= 20[7?]
29x 6= 17[?]
29 x5= |4[?]

29x4=11[7
29x3= 87
29x2= 57
29x 1= 27

— DIETIRL —

1axq= 122
1ax8= 112
1ax7= 9q[7]
lax6= 8[7
14x5= 72
lax 4= 5[7]
14x3= 4[7]
lax2= 2[72]
lax 1= 12

52

— D"IETYRE —
52X 9= 46[7
52%x 8= 41[7
52x7= 36[7
52%x 6= 31[7
52%x5= 26[7
52 x 4= 20[7]
52x3= 15[7]
52x2= 10[7
52x 1= 57

*******************
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53

— MFETYZE —
53x 9= 477
53X 8= 427
53x 7= 377
53x 6= 317
53X 5= 267
53x 4= 217
53x3= |57
53x2= 107

53x 1= 5[7

— DHETIRN —
36 X9 = 32[7]
36 x 8= 28[7]
36 x7= 25[7]
36 x6=21[?]
36 x5= 18[7]
36 X 4= |4[7]
36 x3= 10[?]
36x2= 177

36x 1= 37

— DFETIRE —

I5x9= 132
I5x8= 122
I5x7= 102
I5x6= 9[2]
I5x5= 7[2
I5x4= 6[7
I5x3= 4[7
I5x2= 3[7
I5x 1= 1[2

4 6

— DIETYRL —
46 X9 = 41[?]
46 X 8= 36[7]
46 X 7= 32[?]
46 X 6= 217[?]
46 X 5= 23[7?]
46 x 4= |8[?]
46 x 3= 13[?]
46x2= 97|
46 x | = 47
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38

— NIETYRE —
38 x 9= 34[7]
38x8= 307
38x7= 267
38x6= 227
38x5= 197
38x4= 157

38x3= 112
38x2= 177
38x 1= 37

— DHETYRE —

13x9= 112
1I3x8= 102
13x7= 9[2]
13x6= 7[2
I3x5= 6[7]
I13x4= 5[7
13x3= 3[7
13x2= 2[7]
13x 1= 1[2

— DHETYRE —
44 x 9= 39[7]
44 x 8= 35[7]
44 x 7= 30[7]
44 x 6= 26[7]
44 x5= 22[7]
44 x 4= 17[72]
44 x 3= 13[7]
44 x 2= 8[7]
44 x | = 4[7]

— DHETYRE —
41 x9= 36[7]
41 x8= 32[7]
41 x7= 28[7?]
41 X 6= 24[7]
41 x5= 20[7]

41 x 4= 16[7
41 x3=12[72
41 x2= 87

41 x 1= 42

/12

*******************

*******************




